DC-Servo with -80dB/dec. attenuation for AC feedthrough.
Output referred feedtrough is more than 100dB down @ 20Hz
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AC {1V*6.8/20} L out and a -3dB corner @ 80mHz
+ Offset catch range is 2V input referred (5.9V @ output)
va Aol=1e7 and a 2Vstep settles to 20mV within 9 seconds w/o overshoot.
GBW=50Meg |ntergator out is within CM range (16V @ 18V supplies).
Integrator pole @ 0.241Hz.
o Effective pole @ pole @ 0.96Hz
> R10 R9 0.241Hz * (1+g1) * g2 = 93mHz (‘3‘1 R1 R13
< 5 —\/\ ’ |
PULSE(OV 2V 1ms 1ns) 43k cp Ok R7 R6 2.2uF 150k | s 150k
4___; —
o 2.2uF
92=0.098 £ u2 ] N
.
.option plotwinsize=0 noopiter 43k oy Sl - Aol=1e6 C5
lib opamp.sub R3 1 Aol=1eb6 GBW=8Meg 1 R12
<M C3 R8
;tran 0 20s 0 1ms N N ( IVANA NS
.ac dec 200 1ImHz 100Meg

pole @ 3.0Hz 2.2uF pole @ 3.0Hz 24k

Add degeneration R's if input CM is a problem
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